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A+B+C =ABC + ABC + ABC + ABC + ABC + ABC + ABC

241 P(ABC)=0.1, P(ABC)=0.2,
P(ABC) =0.25, P(ABC) = 0.25,
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# P(ABC)=x,P(ABC)=Yy, bwh
P(ABC)=2, MmAHCHKS, w

- $(0.2+x+ y+0.1) =50, ‘x =0.05

< S(0.25+ y+2+0.1) =50, . y=0.15
S$(0.15+ x+2z+0.1) =50, z2=0.10

\ X+y+z2=1-02-0.25-0.15-0.1. ( S=100
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P(AUAA,) =

PI(A;UA)A]

P(A,)

_P(AA)

+PAA)-P(AAA)

P(A,)
M P(A;A) =PIA(S - A)l= P(A) - P(AA).
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P(A;A)=P[A(S- A)l=P(A)-P(AA,)
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P(AAA)=PIAA(S - A))]
=P(AA)-P(AAA)
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N MBc ARAH P(A-B)=P(A) - P(B).




727\ 3’

B3 ik B ¥r IS FE 2N KR ZR 80.7, 31X B
S aw o H Ar K ZR 0.6, il R IR AL 2
BB — IR B s RIBRE.
(%] SlEEEH

A={HHEASTE;

B, = {FixkEamF HIR, i =12
W R NEHB =B, UB, KR BT Hir

A EZ AR Aeay + B ir i, & ltl: A H
1 &R A ARKE

Iml




R HERH
P(A)=0.7, P(B,|A)=06, (i=12)
T P(AB) =0, A AR B AENEZA,
A HEMBEARE
b(B) = P(AB)+ P(AB) = P(AB)
- P(A)P(B|A)

= P(A)P(B,UB,A),
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M P(B1Bz‘A) = P(Bl‘A)P(Bz‘A)
=0.6x0.6=0.36.
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P(B,UB,/A) = P(B,/A)+P(B, A)—P(B,B,|A)
=0.6+0.6-0.36

=0.84.

M P(B)=P(A)P(B,UB,A)
= 0.7x0.84=0.588.




ﬁﬂ

3K, &I A7TRA

%mﬂm— IBRAN S 1,
{BRIBNE .
BR , SREXB R4

%m B—R
TREHLHIE — R

3%ﬁ6nﬁﬁ4ﬂ'
B —IRESE A
o B “F =

T 2

Al

_Eﬁl -
TE R — R

BRI,

T | — R aER

TR — R4 aR”
ZIIR”.




(1) R, = [Rl(CRZ U 6Rz)] L_J [E(CRz U 6Rz)],

P[R,(CR, UéRz)] = P(RCR,)+ P(RléRz)
= P(RZ‘CRl)P(C‘Rl)P(Rl)
+ P(RZ‘éRl)P(é‘Rl)P(Rl)
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P[R,(CR, UCR,)] = P(R,CR,)+ P(R,CR,)

= P(R,CR)P(CIR))P(R,)
+P(R,[CR,)P(C|R,)P(R,)
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= o0
T2 P(R2)=ﬁ+&=0.609.
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G=RCUR,C.
FR2 P@G)=P(RCUR,C)

= P(C|R,)P(R,)+P(CR,)P(R,)
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P(C)=P(B;)P(C|B;)+ P(B;)P(C|B;).
i P(C‘BS) — P[(B1 U Bz) M (Bs U B4)]
— P(Bl U Bz)P(Bs U B4)

— (1_ P(Bl U Bz))(l_ P(Bg U B4)),

=(1- P(B,B,))(l- P(B,B,))

= (1-P(B,)P(B,))(L- P(B,)P(B,))
=[1-(1-p)1-p)I[1-(1-p,)A- p,)],




P(C|B;)=P(B,B,UB,B,)
=P(B,B;)+P(B,B,)-P(B,B;B,B,)
= P1Ps+ PPy — P P2 P3Py

it A
P(C)=ps[1-(1-p)A- p)I1- (1= p;)(1-p,)]

+ (1_ p5)(p1 p3 + PP, — PP, p3 p4)-
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